%EL'TT
%06'T-

%00°SE

%00°0

%8¢

CcT0C TT0C

(zo6's2T$)
60£'S%

(06£'85%)

0%

(1z8'2L$)

(s0.'6£9%)
?Eimﬁ

(gsz’szes)
(0zz'se$)

(c€2'151%)

%EE"T
%CT LT

%P 9T-
%LZ T~

%TIT'T-

(992'2%)
(80T T¥%)

£65'7E$

£9¢$

088%

(c08'css%)
(cz8'6L2%)

(8¥8'99T1%)
(ozz'ses)

(z16°82%)

Cesorss) [T

(s12'8€C%) wsinojg

‘ juawdojanag
(Trv'661%) SILIOHOD]
. 24jus)
(£85'8¢%) asiidiajug

ssauisng

i suonetado juswdojanaqg
ﬁmm\.mhmv m:_::m_n_ tcmm:_::m_n_

Z10Z ‘0T Adenigag ‘Aeplid

Alewwns 1sS00) 19N wedbold - eaoua)y jo AlD



